Half Life Review Problems

a. lodine-131 is used to destroy thyroid tissue in the treatment of an overactive
thyroid. The half-life of iodine-131 is 8 days. If a hospital receives a shipment of
200 g of iodine-131, how much I-131 would remain after 32 days?

b. Technetium-99 is used for brain scans. If a laboratory receives a shipment of
200 g of this isotope, how much will remain after 24 hours. The half life of
Technetium-99 is 6 hours.

c. Mercury -197 is used for kidney scans and has a half-life of 3 days. If the 32
grams of mercury-197 is ordered, but takes 15 days to arrive, how much would
arrive in the shipment?

d. The half-life of strontium-90 is 25 years. How much strontium-90 will remain
after 100 years if the initial amount is 4.0 g?

e. If the half-life of uranium-232 is 70 years, how many half-lives will it take for
10 g of it to be reduced to 1.25 g?
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Half-life Practice Worksheet

. Sodium-24 has a half-life of 15 hours. How much sodium-24 will remain in an
18.0 g sample after 60 hours?

. After 42 days a 2.0 g sample of phosphorus-32 contains only 0.25 g of the
isotope. What is the half-life of phosphorus-32?

. Polonium-214 has a relatively short half-life of 164 seconds. How many
seconds would it take for 8.0 g of this isotope to decay to 0.25 g?

. How many days does it take for 16 g of palladium-103 to decay to 1.0 g? The
half-life of palladium-103 is 17 days.

. By approximately what factor would the mass of a sample of copper-66
decrease in 51 minutes? The half-life of copper-66 is 5.10 minutes.

. In 5.49 seconds, 1.20 g of argon-35 decay to leave only 0.15 g. What is the
half-life of argon-357?
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L e reuad Relative Ages of Rocks

Directions: /n the blank at the left, write the term that completes each statement.

(elative oo | 1 #{atural laws govern the way geologists determine the age of ]
ck deposits. This technique is called . :

SV p e/rp O St h on 2. The principle of states that an older rock layer and things
buried in it occur beneath younger layers unless the layers have
been disturbed.

(Jncon Forny i—[ €5 3. Some rock layers are incomplete. The gaps are called

ﬁ\”@ S{0N / W@M&Vm}%n cause of gaps in rock layers is

Directions: Look at the trbss—sectionql view of the rock layers shown in Figure 1. For each question, decide
which of the two named materials is older. Assume the layers have not been overturned. Write the name of the
older material on the fine prowded

browsin S VLO[S}' fan safidstone and Figure 1

brown sandstone

blfOWVL S amsr%;@brown sandstone and

f_\ spasy jenpiaipu) bunasy

Dinosaur hone

gray limestone = AT
Q C)\b ‘OFO OU.)CQJ gabbro dike and - Sry Tmestone ‘ Q
\) brown sandstone .
1_ 010N} S\ADLJ\_Q/ 8. gabbro dike and Jrown §
: J ' / . - shale ' ‘é
/\’ )l [ Ob_i T_Q- 9. snail fossil and %
trilobite fossil P g
SV\O\\\ POSS\ [ 10. snail fossil and ;§ °
dinosaur bone & Trilobite fossil :é
11. snétil fossil and green shale z

A AR T AT TR b

M \} 1 lWLQSra/LQi red sandstone and gray limestone
’\QJ VA SCA VLD{SW:VLQA tan limestone and tan sandstone
Om\y U WLQS( mta.n limestone and gray limestone

~ 16. The type of unconformity shown in Figure 1 is a(n)
¢ Ui W\ﬁ’ 0"‘{'44}//

28 (lues to Earth’s Past

Q 2» dinosaur bone and red sandstone Uin Cl_Qw / 'ﬁ
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Use with Chapter 21
Section 21.2

Determining Relative Age

1. Which rock is the youngest? .
[ ‘

2. Which rock is the oldest?

b N

3. Where in the rock sequence does a disconformity occur?
petiween | |\
4. Where in the rock sequence does an angular unconformity occur?
5. What is the relative age of the fault? Explain your answer, naming any principle yout applied.
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6. Whatis the relative age of X? E"P}!’in your answer, narning any Priﬁciple you apptl{ed.
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7. List the rock layers in order from oldest to youngest,

A.B C. D ¢ F
) 7 )
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